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3.) Write thefequation of the lm@that passes

through (2, 3) and (6, 4).
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Remember parallel lines have the
same slopes so if you need the
slope of aline parallel to a given
line, simply find the slope of the
given line and the slope you want for
a parallel line will be the same.

Perpendicular lines have negative
reciprocal slopes so if you need the
slope of a line perpendicular to a
given line, simply find the slope of
the given line, take its reciprocal (flip
it over) and make it negative.




\QRITING PARALLEL ¢ PERPENDICWLAR EQUOATIONS

What is this? Given an equation, you must create ANOTHER equation that is either parallel or
perpendicular to this line, passing through a certain point.

Keep in mind the following points:

e Parallel equations have slopes!

DK .l_ slopes!

e Perpendicular equations have _§) ‘-‘ J ' al




EXAMPLE 1:
Write the equation of the line that

passes through the point (-2, 7) and is
PARALLEL|to theliney =-4x + 1
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Parallel Lines

EXAMPLE 2
Write the equation of theline tha
passes through the poin

m o the ling
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W ite th equation of the line tha . Perependicular Lines
ough the p int (4, 3)

PERPENDICULARt the liney = 2 “a \f ﬂl m(X_X)
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